10
1
12
oo

13
14
15
16
17

18

19

B 12

FC-M12x1

I REMH M12x1 &k

FF CFSQ.CFSW.EBR-SWM #1 EBR-SWB

IRERS

BREZE (PA) BREE D FREWESK, BINTMARKEES,

- FC-M12x1-P4: 4 1 M12x1 PAMHmAIIEL. R & PVC CEI 2022 FE
B4, BIRIES,

- FC-M12x1-P8: 8 #F M12x1 [Bitihimzk, B & PVC CEI 2022 A EFR
45, UL/CSA STYLE B, AISI 316L NEMIEE,

REM

ALERF= dn, T 4 /AN 8 ARFAMERE K o

- TRBEZEFFRAVREE CFSQ (BI1TT 964).

- REZER2FFXRAVIREE CFSW (B0 968).
- HRRSBFFFRBFREBR-SWM (B -).
- RSB FFFRBIFEBR-SW (BITT ).

BRRREHIEHES
FREHERBATEKL

FC-M12x1-P4

=k FC-M12x1-P4 FC-M-12x1-P8

SHEE 4x0.34mm? 8x0.33mm?

RN ABE 250V 30V

RAEM 4A 2A

Bzl >1000 500VDC >100Q 500VDC

TERE -25°C, +70°C -15°C, +70°C

FHIF SR IP6IK * IP67 *
*EEYITE

40+2

@14
‘M12x1

FC-M12x1-P8

4042

L

18R

488

314
M12x1

K

3515

2E8

(1] BirA L d 52
426502 FC-M12x1-P4-2.5 2500 5 210
426505 FC-M12x1-P4-5.0 5000 5 300
426510 FC-M12x1-P4-10.0 10000 5 400
426503 FC-M12x1-P8-2.5 2500 72 210
426506 FC-M12x1-P8-5.0 5000 72 300
426511 FC-M12x1-P8-10.0 10000 7.2 400

2 1072021 elesa-AANTER

ELESA 1 GANTER A REFTE A
E5ERENE AL




